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PART A: Structure
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

Opened in 2009 ---e-n--m- its 1,500 students around $30 a month, St Joseph’s is like
thousands of other private schools across India.

1) and charging 2) while charging  3) and charged 4) when charged
Perhaps the most significant part of that economy has been decentralized-finance (DeFi)
applications, which enable users to trade assets, get loans, and ---------- deposits.

1) to store 2) which store 3) store 4) they store
Research by sociologists and economists has found that couples with daughters face
modestly higher risks of divorce than ---------- .

1) couples with sone are 2) couples with sons

3) are couples with sons 4) couples with sone face

---------- one was also allowed to take the exam repeatedly (in addition to its openness),
China’s civil exam system was extremely competitive.

1) Given that 2) The fact givenis 3) Given 4) It 1s given that
---------- her restaurant already has a large and devoted following, Magda tries to
expand her clientele by offering special promotions.

1) Although 2) Despite that 3) However 4) Nevertheless

Wave direction, ---------- , used by young turtles to navigate in water, is later supplanted
by their orientation to magnetic fields.

1) is apparently that primary cue 2) that is the primary cue apparently

3) apparently the primary cue 4) and the primary cue apparently

The unification of Upper and Lower Egypt around 3000 B.C. acted as a catalyst, ---------
a flowering of Egyptian culture.

1) triggering 2) which it triggered

3) triggered 4) is triggered

---------- pellagra did not contract the disease led epidemiologists to question the theory
that pellagra is contagious.

1) The observation of nurses treated patients of

2) The observation that nurses treating patients with

3) Nurses treating patients the observation was

4) Patients treated by nurses whose observation was
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With the advent of projection, the viewer’s relationship with the image was no longer
private, ---------- ;

1) with earlier peepshow devices it had been so

2) had with earlier peepshow devices been so

3) as it had been with earlier peepshow devices

4) so had it been with earlier peepshow devices

Populations cannot grow ---------- the rural economy can produce enough additional
food to feed more people.
1) unless 2) nonetheless 3) in case 4) whereas

PART B: Written Expression
Directions: Choose the word or phrase (1), (2), (3), or (4) that must be changed for the

sentence to be correct. Then mark the correct choice on your answer sheet.

12-

14-

15-

16-

17-

Management science initially included any application of science for management

1 2 3
problems or to the process of management itself .
Once a species fall below a certajn4number, it is beset by inbreeding and other
1
processes that nudge it closer and closer to extinction. :
3 4
A certain state requires that an applicant for a driver's license answers at least 80
2
percent of the questions on a written test correctly. 1
3 4
A team’s margin of victory for a single game is defined as the number of goals it made
2
minus the number of gloals made by the team losing .
3 4
For centuries, the coastline of Uruguay was regarded by European mariners as a
desolate place, one seeming]ly is devoid of inhabitzénts.
The photograph; as an art f:rm often seeks the ineffable in its subjects,
2
those quallities that cannot be expressed in words.
3 4
Macroeconomics is concerned with understanding economy-wide events such as the
- 2
total amount of goods and services arel produced, the level of unemployment, and
3

the general behavior of prices.
4




18- Before the Neolithic period, when we were hunters-harvesters, we lived in a world
1 2 3

which everything in was renewable.
19- Businessn:en stepped forward with offers to fund his education and projects, and with
money which donated by them, he was lal:ule to put his cousin and several friends back
3
into sclzlool and pay for some medical needs of his family.
20- The concept of hyg‘itene developed during the Roman Empire and regulations were put
- 2
in place to separatelwaste water by a means of a sewage system in the streets.
3 4

PART C: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then

mark the correct choice on your answer sheet.

21- If the world is to aveid environmental catastrophe, advanced economies must undergo a

---------- transition.
1) fungible 2) predictable 3) solitary 4) profound

22- Turning the thermometer up will cause the heat in the room to ---------- , providing
warmth during the winter months.
1) cohere 2) coalesce 3) intensify 4) arouse

23- Despite the fact that others trusted their leader, he could not overcome his ---------- that
something was not right.
1) intuition 2) incentive 3) paradox 4) convention

24- The water ---------- the size of the fish, so they looked enormous.
1) impressed 2) exploited 3) animated 4) distorted

25- Although he appears to be guilty, a closer look at the evidence will surely ---------- the
defendant.
1) extort 2) exonerate 3) expel 4) extenuate

26- Although Cameron was involved in a fight at the park, he came home ---------- without a
single bruise.
1) intact 2) straightforward  3) hazardous 4) blameless

27- The -==cseeeeu for the intense scrutiny at airports is to prevent hijackers from taking over
airplanes.
1) rationale 2) criterion 3) abundance 4) certainty

28- His blood-stained shirt proved to be the decisive and ---------- evidence against him, and
the judge had no difficulty in declaring him guilty.
1) autonomous 2) didactic 3) arbitrary 4) compelling

29-  While the two pills ---------- each other in size and color, you can distinguish them by the

numbers engraved on each one.
1) resemble 2) misinterpret 3) enhance 4) identify
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30-

31-

Because playing a musical instrument increases brain activity, it is sometimes used as a
---------- to promote learning in children.

1) fantasy 2) diversity 3) stimulus 4) documentary

I decided to go into research, as I wanted to do something exciting. I don’t think I’'m
---------- for teaching.

1) put up 2) called out 3) bogged down 4) cut out

The company has failed to fully ---------- online advertising and has missed out on
lucrative new businesses.

1) figure out 2) capitalize on 3) fall through 4) detract from

My parents made an especial effort to ---------- my sibling and me in a wide range of
cultural and educational influences from a very young age.

1) blend 2) coerce 3) steep 4) stretch

There’s no doubt that the success of the project ---------- you and how well you do your job.
1) bases 2) rotates 3) dwells on 4) hinges on

I’ve just started a new business and wonder if I could ---------- your brains for any tips
you might have.

1) rack 2) seek 3) pick 4) hack

PART D: Reading Comprehension
Directions: Read the following three passages and decide which choice (1), (2), (3), or (4)

that best answers each question. Then mark the correct choice on your answer sheet.

PASSAGE I:

The probability that two right-handed people would have a left-handed child is only
about 9.5 percent. The chance rises to 19.5 percent if one parent is a lefty and 26
percent if both parents are left-handed. The preference, however, could also stem from
an infant’s imitation of his parents. To test genetic influence, starting in the 1970s
British biologist Marian Annett of the University of Leicester hypothesized that no
single gene determines handedness. Rather, during fetal development, a certain
molecular factor helps to strengthen the brain’s left hemisphere, which increases the
probability that the right hand will be dominant, because the left side of the brain
controls the right side of the body, and vice versa. Among the minority of people who
lack this factor, handedness develops entirely by chance. Research conducted on twins
complicates the theory, however. One in five sets of identical twins involves one right-
handed and one left-handed person, despite the fact that their genetic material is the
same. Genes, therefore, are not solely responsible for handedness.

Genetic theory is also undermined by results from Peter Hepper and his team at
Queen’s University in Belfast, Ireland. In 2004 the psychologists used ultrasound to
show that by the 15th week of pregnancy, fetuses already have a preference as to
which thumb they suck. In most cases, the preference continued after birth. At 15
weeks, though, the brain does not yet have control over the body’s limbs. Hepper
speculates that fetuses tend to prefer whichever side of the body is developing quicker
and that their movements, in turn, influence the brain’s development. Whether this
early preference is temporary or holds up throughout development and infancy is



37-

39-

40-

41-

42-

unknown. Genetic predetermination is also contradicted by the widespread observation
that children do not settle on either their right or left hand until they are two or three
years old.

But even if these correlations were true, they did not explain what actually causes
left-handedness. Furthermore, specialization on either side of the body is common
among animals. Cats will favor one paw over another when fishing toys out from
under the couch. Horses stomp more frequently with one hoof than the other. Certain
crabs motion predominantly with the left or right claw. In evolutionary terms. focusing
power and dexterity in one limb is more efficient than having to train two. four or even
eight limbs equally. Yet for most animals, the preference for one side or the other is
seemingly random. The overwhelming dominance of the right hand is associated only
with humans. That fact directs attention toward the brain’s two hemispheres and
perhaps toward language.

What does the paragraph following this passage most probably discuss?

1) Something related to the role of the brain in determining handedness in humans

2) Review of the most recent literature on the relationship between the brain and
language, on the one hand, and the brain and handedness preference, on the other

3) Reasons why right-handedness 1s predominant among humans

4) Differences between animals and humans in terms of factors contributing to the
preference for the left or right hand

According to the passage, the chances for a child with left-handed parents to turn out to

be left-handed are ---------- |

1) 19.5 percent 2) negligible 3) 26 percent 4) 9.5 percent

As speculated by Marian Annett, the brain’s left hemisphere carries out its role in

making people righted-handed ---------- ’

1) under the influence of genetic modulator

2) due to the involvement of a molecular factor

3) just randomly in the majority of cases

4) through the medium of a specific set of genes

Why has the author mentioned Peter Hepper and his team in paragraph 2?

1) To argue that handedness is a psychological as well as physiological research topic

2) To accentuate the need for further research about human handedness

3) To mention a recent groundbreaking study in relation to the handedness phenomenon

4) To vitiate a particular explanation of how handedness is determined in humans

According to the study reported in paragraph 2, a fetus’s preference for which thumb to

suck is a preference that ---------- A

1) changes 15 weeks after birth 2) affects the growth of body limbs

3) becomes immutable after birth 4) may or may not remain stable

The word “contradicted” in paragraph 2 could best be replaced by which of the

following?

1) portended 2) belied 3) transfixed 4) touted

Which of the following best describes the function of the underlined sentence in paragraph 3?

1) To make a distinction

2) To make a generalization that comes next

3) To draw an analogy

4) To support a claim made earlier
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43-

44-

45-

46-

The phrase “the other” in paragraph 3 refers to ---------- .

1) Iimb 2) preference 3) side 4) dominance

Which of the following best describes the author’s attitude toward the topic of the
passage?

1) Incredulous 2) Disinterested 3) Polemical 4) Contentious

PASSAGE 2:

Astronomers have spotted a black hole “giving birth” to stars at the center of a nearby
dwarf galaxy—and the stellar newborns are tethered to the black hole by a massive
“umbilical cord” made of gas and dust. The supermassive black hole, situated roughly
34 million light-years away in the galaxy Henize 2-10, was seen spewing an
enormous, 500-light-year-long jet of ionized gas from its center at around 1 million
mph (1.6 million km/h), contributing to a “firestorm™ of new star formation in a nearby
stellar nursery.

The discovery, made using the Hubble Space Telescope, 1s the first time a black
hole in a dwarf galaxy (a galaxy with 1 billion or fewer stars) has been seen birthing
stars. “From the beginning, [ knew something unusual and special was happening in
Henize 2-10, and now Hubble has provided a very clear picture of the connection
between the black hole and a neighboring star-forming region located 230 light-years
from the black hole,” study co-author Amy Reines said in a statement. “Hubble’s
amazing resolution clearly shows a corkscrew-like pattern in the velocities of the gas,
which we can fit to the model of a precessing, or wobbling, outflow from a black
hole.”

Astronomers observed the jet’s thin tendril stretching out from the black hole and
across space to a bright stellar nursery. Supermassive black holes—which are millions
to billions the size of stellar-mass black holes — have been spotted spewing cosmic
plumes before, but until now, astronomers thought that these jets hindered, rather than
helped, star formation in dwarf galaxies.

Black holes make the jets that spew from them by sucking in material from nearby
gas clouds or stars before slingshotting it back into space in the form of blazing plasma
traveling close to the speed of light. If heated to the right temperature, the gas clouds
that make contact with the jet will then become ideal nurseries for future stars. But
getting to that Goldilocks zone is crucial; if the jets heat the gas clouds up too much,
they can lose their ability to cool back down in the way necessary for star formation.
But with the gentle, less-massive outflow from the black hole in Henize 2-10, gas
conditions were perfect for star formation.

What is the best title for the passage?

1) Start Formation Process Finally Understood

2) Monster Black Hole Spotted ‘Giving Birth” To stars

3) Hubble: A Window to Future Astronomy

4) Start Formation in a Newly Found Dwarf Galaxy

Which of the following is stated about ‘“umbilical cord” in the passage?
1) It spews gas and dust.

2) It 1s a liaison between blackhole and stellar dust.

3) It is very huge.

4) Without it, stars cannot be born.



47- The word “its’ in paragraph 1 refers to ---------- :
1) jet of ionized gas 2) firestorm
3) supermassive black hole 4) galaxy Henize 2-10
48- Which of the following can be inferred from paragraph 2?
1) Dwarf galaxies may have been giving birth to stars without our being able to notice it.
2) There are galaxies other than Henize 2-10 which the Hubble Space Telescope is
monitoring.
3) The birth of new stars is a new phenomenon in dwarf galaxies.
4) A corkscrew-like pattern in the velocities of the gas is the first requisite for start formation.
49- Which of the following is defined in first two paragraphs in the passage?
1) stellar nursery 2) outflow
3) supermassive black hole 4) dwarf galaxy
50- Which of the following is stated in the passage about cosmic plumes?
1) They were not thought to assist star formation in dwarf galaxies.
2) They emerge in galaxies that are gigantic in size.
3) They are too far away to affect space objects in the Solar System.
4) They seem to be the hallmark of bright stellar nurseries.
51- The gas clouds mentioned in paragraph 3 become ideal nurseries for future starts ------- 5
1) after their having lost the ability to cool back
2) when they are heated to a certain point
3) concurrent with their getting to the Goldilocks zone
4) when they are slingshot back into space
52- There is sufficient information in the passage to answer which of the following
questions?
1) What was something unusual and special happening in Henize 2-10 that attracted
some astronomers’ attention?
2) What is the umbilical cord linking the stellar newborns and the black hole actually
made of?
3) Why are the stellar newborns tethered to the black hole by a massive “umbilical
cord” made of gas and dust?
4) Why did astronomers think that cosmic plumes hindered, rather than helped, star
formation in dwarf galaxies?
53- Which of the following best describes the tone of the passage?
1) Incendiary 2) Euphoric 3) Speculative 4) Objective

PASSAGE 3:

Speech-related gestures serve two purposes. Firstly, they can provide a concordance to
the speech, marking out its structure and how it is to be interpreted. Secondly, if they
carry some of the message, they force listeners to watch the speaker as well; if they
only listen, they will miss part of the meaning. If it is not overdone, this can be an
effective way of manipulating pupils’ attention.

Animated speakers use gestures extensively to punctuate their speech (beats) and to
illuminate the ideas they are talking about. Some subjects lend themselves to
pantomiming (a biology teacher as a gorilla is a vivid memory from thirty years ago).
More soberly, talk about shapes (such as the line of the trenches in the First World
War, or the shape of a mathematical equation) or movements (such as rocks rolling



54-

55-

56-

57-

58-

59-

along and eroding the bottom of a stream) may be illustrated by iconic gestures; the
gesturing hand traces out the shape or imitates the movement. Mathematical ideas (or
ideas in other subjects) can be represented by gestures as well as mathematical
equations; as ideas have no physical form, these are metaphoric gestures. Mathematics
is a precise subject, and this precision is represented by the forefinger-to-thumb
precision grip being made in a vacuum. Thumb and finger carefully hold the invisible
idea for the class’s inspection. This is only one of a range of gestures which
manipulate ideas as objects, to show the audience how they should be handled
mentally.

There are various other hand movements which can be described as more
relationship oriented. Some, such as nominating whom is to talk next by pointing at
them, or holding up a hand to stop them talking, are quick movements related to
gesturing; but there is a range of more static hand postures, related to status and
confidence. Folded arms, or hands on hips are dominating or threatening, while a
range of fumbling or preening movements indicate stress or anxiety. You are most
likely to use these at stressful points during the session, for instance during transitions
from one class activity to another, when delay and disorganization are possible.

What is the subject of this passage?

1) Various types of hand movements

2) Ways to enhance pupils’ attention in class

3) Gestures and hand signals

4) Relationship between gestures and course types

What is the main rhetorical function of paragraph 1?

1) Classification 2) Function Description

3) Definition 4) Process description

According to the passage, the line of the trenches in the First World War can be best
illuminated through ---------- ’

1) iconic gestures 2) forefinger-to-thumb precision grip
3) pantomiming 4) metaphoric gestures

The word “themselves” in paragraph 2 refers to ---------- 4

1) beats 2) ideas 3) teachers 4) subjects

Which of the following best describes the function of paragraph 3 in relation to paragraph 2?

1) It provides some other types of gestures that somehow help support the main point
of paragraph 2.

2) It furnishes some further examples of gestures that seem to be counterproductive
and thus sheds doubt on the validity of the claim advocated in paragraph 2.

3) It describes a new set of gestures to be used for the same subjects mentioned in
paragraph 2.

4) It aims to debunk any overgeneralization to be made out of the information presented
in paragraph 2.

The word “these” in paragraph 3 refers to ---------- ;

1) gestures expressing stress or anxiety

2) transitions from one class activity to another

3) static gestures

4) folded arms and hands on hips
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60-

Which of the following is stated in the passage about “nominating whom is to talk next
by pointing at them” (paragraph 3)?

1) It is to be followed by holding up a hand.

2) It should not be overdone.

3) It is less effective unless it is done quickly.

4) It is a relationship-oriented gesture.

U g Sy pito iy 5 Ullgld (5l () anads’ U

PART A: Grammar & Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.

Then mark the answer on your answer sheet.

61-

62-

64-

65-

66-

67-

There is talk of the two struggling companies merge, and it is believed that they would
benefit significantly from synergy ---------- ]

1) happens to this 2) whether this had happened

3) this happened 4) were this to happen

The two former rivals have formed an unlikely strategic alliance ---------- everyone
perplexed as to why they were at loggerheads for so long.

1) leaves 2) and leaves 3) left 4) leaving

A meeting of the Board of Directors has been convened ---------- by Manton Investments.
1) to table the offer tabled the implications of

2) for the offer to table to discuss the implications of

3) to discuss the implications of the offer tabled

4) about the implications discuss the tabled offer

The company was quick to reassure shareholders that its cash flow is in a very healthy
state -------a-- there is no liguidity issue.

1) which 2) and that 3) and 4) besides

You will never reach the top of the corporate unless you change your attitude towards
yOur superiors; it is =-=------- at your job, but also how well liked you might be,

1) not only about how good you are 2) about how good not only are you

3) not only about how good are you 4) about how good not only you are

In published work spanning more than four decades, ---------- by both individuals and
institutions is systematically and significantly influenced by natural human cognitive
limitations and biases.

1) it was explored by Thaler how decision making is economic

2) Thaler explored how economic decision making

3) how decision making was explored economic by Thaler and

4) it was Thaler explored how economic decision making

Although mental accounting may have the benefit of preventing a person from spending
too much in one account, it can result in ----=ce--- .

1) some situations increased costs in 2) some situations of costs increased

3) increased costs in some situations 4) costs are increased in some situations
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68-  ---meeee- their most ardent champions concede that a technical or scientific breakthrough
is necessary before solar cells can meet the goal of providing one percent of the nation’s
energy needs.

1) Although 2) Even 3) In spite of 4) No matter

69- Several employees of the company believe that the reason ---------- the design
department knows little about marketing and strategy.
1) why the alarming decline in sales is
2) why there is in sales an alarming decline of
3) the alarming decline in sales that
4) for the alarming decline in sales is that

70- In light of her extraordinarily creative budgeting proposal, a recent poll put Susan ahead of
George in the race for governor and found her to be ---------- candidate of the two.

1) the best 2) the better 3) better 4) a better

PART B: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

71- I'msorry I can't lend you $10, because I'm really ---------- up this month.
1) broken 2) gone 3) hard 4) far

72- Management has promised to facilitate an easy ---------- to the new ownership structure.
1) catalyst 2) relevance 3) transition 4) seizure

73- The board has put forward a motion of no confidence in the Chief Executive and his
days at the head of the company now appear ---------- 5
1) numbered 2) short-lived 3) null 4) short-sighted

74- It is often alleged that --------- is inconsistent with economic rationality, which assumes
that people behave selfishly.
1) utilitarianism 2) isolation
3) altruism 4) pleasure

75- It is a huge conglomeration with activities in ---------- industries ranging from extraction
and mining to call center support services.
1) initial 2) derivative
3) interchangeable 4) diverse

76- To this day, researchers and theorists debate whether bubonic plague caused The Black
Death, a pandemic that ---------- the world in the middle of the fourteenth century.
1) violated 2) sought
3) swept 4) exploited

77- Even though Mrs. Wilson was a very wealthy woman, she still lived an ---------- life and
only spent money on the basic essentials.
1) obsolete 2) indifferent
3) abstemious 4) unrivaled

78- Motivate consumers to want your product by positioning it in the marketplace to ---------- to

a single desire certain customers have. Trying to be everything to everyone makes no one
feel special.

1) appeal 2) attribute

3) render 4) reveal
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79- An cmemeeeeee is the process by which a landlord forces a tenant out of the property the
tenant is renting.
1) vacancy 2) extrication
3) eviction 4) refuge
80- The business is ---------- as it can no longer meet the repayments on its debt.
1) spurious 2) insolvent
3) groundless 4) unattainable

PART C: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The Economic Importance of Coral Reefs

A lot of people around the world are dependent, or partly dependent, on coral reefs for
their livelihoods. They often live (81) -------- the reef, and their livelihood revolves
around the direct extraction, processing and sale of reef (82) --------- such as shell fish
and seaweeds. In addition, their homes are (83) --------- by the reef from wave action.

Reef flats and (84) - reef lagoons are accessible on foot, without the need for
a boat, and so allow women, children and the elderly to engage directly in manual
harvesting, or ‘reef-gleaning’. This is a significant factor (85) --------- reef-based
fisheries from near-shore sea fisheries. Near-shore fisheries are typically the domain of
adult males, in particular where they involve the use of boats, with women and

children (86) --------- mainly to shore-based activities. However, in a coral-reef fishery
the physical accessibility of the reef opens up opportunities for direct participation by
women, and (87) --------- increases their independence and the importance of their role

in the community. It also provides a place for children to play, and to (88) ---------
important skills and knowledge for later in life. For example, in the South West Island
of Tobi, in the Pacific Ocean, young boys use simple hand lines with a loop and
(89) --------- at the end to develop the art of fishing on the reef. Similarly, in the Surin
Islands of Thailand, young Moken boys spend much of their time playing, swimming
and diving in shallow reef lagoons, and in doing so build (90) --------- skills for their
future daily subsistence.

Secondary occupations, such as fish processing and marketing activities, are often
(91) —---—---- by women, and offer an important survival strategy for households with
access to few other physical assets (such as boats and gear), for elderly women, widows,
or the wives of (92) --------- men. On Ulithi Atoll in the western Pacific, women have a
distinct role and rights in the distribution of fish catches. This 1s because the (93) --------- :
made from mahogany logs from nearby Yap Island, are obtained through the exchange of
cloth made by the women of Ulithi. Small-scale reef fisheries (94) --—------ the involvement
of local women traders and their involvement can give them greater control over the
household income, and in negotiating for loans or (95) --------- Thus their role is not only
important in providing income for their tamilies, it also underpins the economy of the
local village.



Woamin 460C (IPA 05) g 54 3300 3 51 g’ o j3iko

81- 1) detached from 2) embedded in 3) vulnerable to 4) adjacent to
82- 1) quotas 2) necessities 3) resources 4) outlets

83- 1) sheltered 2) exposed 3) established 4) jeopardized
84- 1) marginal 2) shallow 3) ebbing 4) dense

85- 1) shielding 2) receding 3) distinguishing 4) extending
86- 1) assented 2) dismissed 3) required 4) restricted
87- 1) consequently 2) ingenuously 3) retlectively 4) skillfully
88- 1) acquire 2) assort 3) solicit 4) elicit

89- 1) reel 2) bait 3) rods 4) weight

90- 1) benevolent 2) subjective 3) crucial 4) perilous
91- 1) dominated 2) defied 3) denigrated 4) recognized
92- 1) demanding 2) orthodox 3) infirm 4) hostile

93- 1) canoes 2) baskets 3) garments 4) nets

94- 1) identify 2) outdo 3) support 4) eclipse

95- 1) credit 2) exchange 3) deficit 4) takeover

PART D: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Studio glass art—handblown, one-of-a-kind glass objects made by artists working in
studios, homes, or other small-scale settings—is a relatively new art form. Because a
large furnace was needed to heat raw materials during the process of making glass,
artists who worked in the medium of glass were for many years denied the freedom
and convenience of working in a studio. Instead, they worked, when permitted to do
s0, at a factory where mass-produced commercial glass was made. Even the great
works of glassmakers such as Tiffany, Lalique, and Emile Galle (Galle was the first
glass artist of modern art to sign his pieces) were done in the workshops of factories,
although both Tiffany and Lalique worked in their own factories.

In 1962, Harvey Littleton, a professor of fine arts, discovered that glass could be
melted at temperatures low enough to permit use of a small furnace. This meant that
glass for art could be blown in a home studio. Also figuring prominently in the
introduction of studio glassblowing was Dominick Labino, a physicist with technical
genius. He and Littleton would come to be regarded not only as founders of the studio
glass art movement, but also as two of the finest glass artists in the world.

Littleton established a workshop on the grounds of the Toledo Museum of Art, and
for the first time, students were invited to explore glass outside of the factory
atmosphere. With that, the making of glass as decoration began to pull away from
commercial locations. The widespread production of art glass began soon after and
continues to this day.

By making it possible for a glassmaker to work independently, Littleton and Labino
completely rewrote the script for making decorative glass, not only in their own
country but in much of the world. Artists have responded to their emancipation from
the factory workshop with exuberance. There are now numerous art schools offering
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instruction in glass working, where there were few, if any, before the advent of the
studio movement. In addition, programs involved with glass as a medium for art have
been added to the curricula of some colleges and universities.

What does the passage mainly discuss?

1) The impact of physicists on the production of glass art

2) The influence of commercial glass makers on the studio glass art movement

3) The development of glassmaking as a studio art form

4) The use of modern technology in commercial glassmaking

According to the first paragraph, all early glass artists did their work in factories
because ----------- )

1) there were laws against using furnaces in homes

2) they needed factory equipment for the production of their artwork

3) they received funding from factory owners

4) they preferred the convenience and safety of factories

According to the first paragraph, what did Tiffany, Lalique, and Emile Galle have in
common?

1) Each discovered a new way to manufacture commercial glass.

2) Each founded a glass art movement.

3) Each had to get the permission of commercial factories for workspace.

4) Each produced glass art of outstanding quality.

The word ''prominently’’ in paragraph 2 is closest in meaning to ---------- .
1) promptly 2) notably
3) systematically 4) actively

Why does the author mention '"Harvey Littleton''?

1) To suggest a reason why the studio art glass movement spread so rapidly

2) To discuss the innovation that made it possible for glass artists to work in new ways
3) To identify an artist who made his works of art in a factory setting

4) To contrast his works of glass art with those created by Dominick Labino

Which of the following is true about Labino and Littleton, according to the passage?

1) They learned the subtleties of their profession on their own.

2) They used to be physicists before they realized they were interested in studio glass art.
3) They both had their own factories.

4) They were glass artists whose mastery in the field was internationally recognized.
The phrase ''pull away from' in paragraph 3 is closest in meaning to --------- :

1) prepare for 2) rely on 3) separate from 4) protect from

The passage mentions which of the following as the first noncommercial setting for the
study of glass art?

1) The studio of Dominick Labino 2) The workshops of Tiffany and Lalique
3) Colleges and universities 4) The Toledo Museum of Art

Which of the following best describes artists’ attitude towards the development introduced
by Littleton and Labino?

1) Approbation 2) Caution

3) Ambivalence 4) Skepticism

The word ""advent'' in paragraph 4 is closest in meaning to ---------- 3
1) validation 2) success

3) commencement 4) interruption
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PASSAGE 2:

Ancient Mesopotamia, in the Tigris-Euphrates Valley, was a land of villages and
cities. Villages—groups of families that live close to one another—are common in
agricultural societies. By banding together, farming families can protect each other,
share facilities such as barns and threshing floors, and help each other at key times in
the agricultural cycle. Villages also serve human social needs by providing
companionship as well as a pool of potential marriage partners.

Most cities developed from villages. As a successful village grew, small satellite
villages developed nearby, and eventually the main village and its satellites coalesced
into urban center. Cities and villages were linked in a relationship of mutual
dependence. Cities depended on agriculture. The earliest known urban centers in the
Middle East, such as Jericho and Catal Huyuk, sprang up shortly after the first
appearance of agriculture, and many early Mesopotamian city dwellers went out each
day to labor in nearby fields.

In nonurban societies, almost everyone engaged in the basic tasks of subsistence,
gathering or growing enough food to feed themselves and their families. Cities,
however, depended on villagers to produce surplus food to feed urban residents who
did not engage in food production but, instead, specialized in activities such as
metallurgy (creating useful objects from metal), crafts, administration, etc. In
Mesopotamia, a city controlled the agricultural land and villages in the vicinity of the
city, requiring surplus foodstuffs to feed its population of specialists. In return, the city
provided rural districts with military protection against bandits and raiders and a
market where villagers could trade surplus products for manufactured goods produced
by urban specialists.

The term "city-state” is used to refer to independent ancient urban centers and the
agricultural territories they controlled. Early Mesopotamia was a land of many small
city-states. Stretches of open and uncultivated land, whether desert or swamp, lay
between the territories controlled by the various communities and served as buffers.
However, disputes over land, water rights, and movable property often sparked
hostilities between neighboring cities and prompted most to build protective walls. But
cities also cooperated in various ways, sharing water and allowing safe passage of
trade goods through their territories.

What aspect of ancient Mesopotamia does the passage mainly discuss?
1) Methods of cultivating crops in river valleys

2) Crafts practiced by the inhabitants of urban centers

3) The mutual dependence of cities and villages

4) Conflict and cooperation between city-states

The first paragraph mentions all of the following as advantages that farming families get
by uniting into a village EXCEPT ---------- 5

1) opportunity to specialize in work other than food production

2) mutual protection against attack

3) help with farm work at times of the year when such help is needed
4) satisfaction of people’s social needs
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The word "'potential" in paragraph 1 is closest in meaning to ---------- :
1) possible 2) interesting
3) young 4) desirable

The author mentions ''Jericho'' and '"Catal Huyuk'' in paragraph 2 in order to support
the claim that ---------- .

1) early cities would not have been possible without agriculture

2) most people living in early Mesopotamian cities did not engage in farming activities
3) early Mesopotamian villages did not depend on cities

4) the largest ancient cities in the Middle East were in Mesopotamia

The phrase "'its population'' in paragraph 3 refers to the population of ---------- :
1) the vicinity 2) the agricultural land
3) the city 4) Mesopotamia

According to the third paragraph, Mesopotamian cities depended on villages in their
territory for which of the following?

1) Special craft items 2) Raw materials for urban crafts

3) Military protection 4) Food for specialists

According to the fourth paragraph, what separated the territories of neighboring
Mesopotamian city-states?

1) Areas with independent villages that did not belong to any city-state

2) Mountain ranges and wide rivers

3) Independent market areas where merchants from different city-states traded goods
4) Unclaimed land not suitable for agriculture

PASSAGE 3:

"Tie-and-dye" is a method of obtaining a pattern on fabric by resist dyeing. Parts of the
fabric are isolated so that they “resist” absorbing colors when the fabric is immersed in
dye. A number of techniques are used to isolate parts of the fabric. These include tying
or binding, knotting, and folding, all of which can be used to create a wide variety of
designs. These designs can be very intricate or very bold and dramatic, and no two
designs are ever alike. The tie-and-dye process can be used to create monochrome
designs, or it can be repeated with different dye colors to create multicolored and
richly patterned designs.

Tie-and-dye is known almost all over the world and is one of the earliest forms of
resist dyeing, probably because of the simplicity of its basic techniques. The earliest
surviving tie-and-dye fabric is believed to date from the first or second century B.C.
and comes from the Necropolis at Paracus in Peru. This fabric is woven from a woolen
yarn and has fringes on all sides. It is mainly brown with yellow, red, and green spots,
and could be a poncho (a sleeveless garment slipped on over the head) as it is made up
of two loom widths that have been partly joined. Also found in Peru, at Nazca, is a tie-
and-dye fragment believed to be part of a poncho. This is made up exclusively of a
patchwork of L-shaped pieces of woven fabric, with all-over spot patterning. This
simple patterning was typical of resist fabrics in the Pre-Columbian period prior to the
arrival of Europeans in South America and was usually achieved by tying the fabric
over the rounded ends of sticks before dyeing. The Pre-Columbians used indigo (a
plant dye) to create a variety of blue shades, cochineal (a dye obtained from an insect)
for red, and the bark of a pepper tree for yellow. Pre-Columbian tie-and-dye fragments
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have been found in Arizona and New Mexico in the United States. Later, 1n the same
region, tie-and-dye was practiced by the Pueblo Indians who produced monochrome
patterns of circle or square designs that are still in use today.

What does the passage mainly discuss?

1) Fabric patterns used throughout the world

2) The history of fabric design in South America
3) Various methods of resist dyeing fabrics

4) A technique for producing patterns on fabrics

The word "immersed" in paragraph 1 is closest in meaning to ---------- .
1) prepared 2) submerged

3) collected 4) displayed

The word ""These'' in paragraph 1 refers to ----------

1) techniques 2) parts of the fabric

3) colors 4) designs

The word "intricate' in paragraph 1 is closest in meaning to ---------- .
1) complex 2) attractive

3) abstract 4) natural

According to the first paragraph, the tie-and-dye method of resist dyeing involves which
of the following processes?

1) Using a variety of dyes to color the fabric.

2) Preventing dye from reaching some parts of the fabric.

3) Dyeing parts of the fabric at different times.

4) Repeating the same design on different types of fabric.

According to the first paragraph, the designs created by the tie-and-dye method are ---------- .
1) never exactly like each other 2) hardly ever brightly colored

3) usually in shades of the same color 4) mostly the same pattern repeated
According to the second paragraph, the tie-and-dye fabric found at Paracus in Peru has
all of the following characteristics EXCEPT ---------- .

1) woolen yarn 2) sleeves

3) spots of several colors 4) fringes

It can be inferred from the second paragraph that tying fabric over the rounded ends of
sticks before dyeing it had which of the following effects?

1) It created a mixture of new colors in the fabric.

2) It made patchwork fabric easier to sew into a garment.

3) It produced a design of spots in the fabric.

4) Tt prevented the fabric from becoming spotted.
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